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QUESTION 1

If the Issuer and Subject values are the same in a digital certificate, which type of entity was the certificate issued to? 

A. A CRL 

B. A person 

C. A subordinate CA 

D. A root CA 

Correct Answer: D 

 

QUESTION 2

Refer to the exhibit. 

The exhibit shows the IPS sensor configuration. 

If traffic matches this IPS sensor, which two actions is the sensor expected to take? (Choose two.) 

A. The sensor will allow attackers matching the NTP.Spoofed.KoD.DoS signature. 

B. The sensor will block all attacks aimed at Windows servers. 

C. The sensor will reset all connections that match these signatures. 

D. The sensor will gather a packet log for all matched traffic. 

Correct Answer: AB 
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QUESTION 3

Which two inspection modes can you use to configure a firewall policy on a profile-based next-generation firewall
(NGFW)? (Choose two.) 

A. Proxy-based inspection 

B. Certificate inspection 

C. Flow-based inspection 

D. Full Content inspection 

Correct Answer: AC 

 

QUESTION 4

Which of the following SD-WAN load ?alancing method use interface weight value to distribute traffic? (Choose two.) 

A. Source IP 

B. Spillover 

C. Volume 

D. Session 

Correct Answer: CD 

https://docs.fortinet.com/document/fortigate/6.0.0/handbook/49719/configuring-sd-wan-load-balancing 

 

QUESTION 5

Which three pieces of information does FortiGate use to identify the hostname of the SSL server when SSL certificate
inspection is enabled? (Choose three.) 

A. The subject field in the server certificate 

B. The serial number in the server certificate 

C. The server name indication (SNI) extension in the client hello message 

D. The subject alternative name (SAN) field in the server certificate 

E. The host field in the HTTP header 

Correct Answer: ACD 

Reference: https://checkthefirewall.com/blogs/fortinet/ssl-inspection 
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